
Μια	
  κυκλική	
  μεταβολή...	
  
	
  
	
  
Ποσότητα	
   ιδανικού	
   αερίου	
   η=4/R	
   mol	
   (R	
   η	
   παγκόσμια	
   σταθερά	
   των	
  

αερίων)βρίσκονται	
   αρχικά	
   σε	
   κατάσταση	
   Α	
   (ΡΑ=4atm,	
   VA=3L).	
   Το	
   αέριο	
  

υποβάλλεται	
  στις	
  παρακάτω	
  διαδοχικές	
  αντιστρεπτές	
  μεταβολές:	
  

Α→Β:	
  Ισοβαρής	
  εκτόνωση	
  με	
  απορρόφηση	
  θερμότητας	
  Q=3000j	
  

B→Γ:	
  Αδιαβατική	
  εκτόνωση	
  μέχρι	
  την	
  αρχική	
  θερμοκρασία	
  

Γ→Α:	
  Ισόθερμη	
  μεταβολή	
  μέχρι	
  την	
  αρχική	
  του	
  κατάσταση.	
  

Να	
  υπολογίσετε:	
  

α.	
  Τη	
  μέγιστη	
  κι	
   ελάχιστη	
  απόλυτη	
  θερμοκρασία	
   του	
  αερίου	
  κατά	
  τη	
  διάρκεια	
  

της	
  κυκλικής	
  μεταβολής.	
  

β.	
   Το	
   πηλίκο	
   της	
   μεταβολής	
   της	
   εσωτερικής	
   ενέργειας	
   του	
   αερίου	
   κατά	
   την	
  

ισοβαρή	
  προς	
  την	
  ΔU	
  κατά	
  την	
  αδιαβατική	
  μεταβολή	
  (

ΔUAB

ΔUBΓ 	
  )	
  

	
  

γ.	
  	
  	
  	
  Το	
  πηλίκο	
  	
  	
  	
  	
  	
  

Qαποβ

Qπροσ 	
  	
  	
  κατά	
  τη	
  διάρκεια	
  της	
  κυκλικής	
  διεργασίας.	
  

Δίνονται:	
  1atm=105	
  N/m2	
  	
  	
  ,	
  Cp=5R/2	
  	
  ,	
  γ=5/3,	
  ln2=0,7	
  


